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1 Bt RENNZR A 50 50
2 B S A A 2 IR 50 50
3 % ARITIRE e 70 1E B 50 50
4 s SRR S i 50 50
5 LE PRI EES = 50 50
6 B 7K A Ml FA 22 B 7K A 50 50
7 THE A e FH= 50 50
8 7575 P&/ NE TS X 7555 50 50
9 B R b S TS 5 R 50 50
10 g R Z 4 P e 50 50
11 HKAETT M2 FHY 50 50
12 Tridt X S ENE S 75 50 50
13 BRI NS BRI 50 50
14 KK SO 22 Kk 50 50
15 X175 5% VA T X F5 e 50 50
16 WHEY PN TS WHYL 50 50
17 RIH RN FZ R 2 50 50
18 R RENNZS REEZ 50 50
19 Z [ HARHIA =2 FHE 50 50
20 PN Y H A% Ve 50 50
21 Fr I 3L BTN P 50 50
22 HOR HI O EE HWHE 50 50
23 Ir it A e T IE 50 50
24 R BT MR RS FIBFE 50 50
25 HEPAs VA = B AE S 50 50
26 A BEONZER A 50 50
27 RKHE RN S Pl 50 50
28 ESE'E ANIISE e 24 T 50 50
29 RF= S TS RFH= 50 50
30 Bl 22 3 il ANZEL B2 3 50 50
31 FIEZE HIONZS T 50 50
32 N=F HARHIA 2 FFHAE 50 50
33 T Ml Ak ZE 4 i P 50 50
34 VA IR S B 22 ] 50 50




35 TRAFE RS TRAFE 50 50
36 TER S TS TER 50 50
37 kK- PO/ TS HE Rt 50 50
38 ZF5= R T2 TF= 50 50
39 % BE/RNE SN i 50 50
40 F 75 I T2 Vgl 50 50
41 SRR REONZS N8 50 50
42 BIEPS BTN ZS =) 50 50
43 B 752 HOIONZS B2 50 50
44 HIE% HIONZS wEH 50 50
45 RS Vi ILE= 50 50
46 Tr it HARHIA 2 Tt 50 50
47 RIBFE BT MR RS JLH = 50 50
48 SR NS SRR 50 50
49 R i V&N NE TS RERY 50 50
50 [ SEEs RN S fSEEe 50 50
51 B~ ARIEp e B~ 50 50
52 EIS=2ie PO/ ETS EIS=id 50 50
53 B SN ZE SR 50 50
54 FAH pNIIIRE eSS FAH 50 50.00
55 Tridt X A 22 Tritt X 50 50.00
56 TRAETT e eSS TKAETT 50 50.00
57 FH BRI 2 FREDE 50 50.00
58 BBt (TR S N Bt 50 50.00
59 RHY RN R5EY 50 50.00
60 A AN A 50 50.00
61 LI PNIINRE N eHE 50 50.00
62 ieEes BRI T IEH 100 100.00
63 e BRI RS T 100 100.00
64 Rkt BTN ZS 2% 100 100.00
65 SISk M+t &ss 59 100 100.00
At 3450.00




